RUN 4 in CgemBoss

vidyo, 2019-12-18



MEAN CHARGE & CL. SIZE of 1D clusters — view Xx

cluster mean charge [fC]

cluster size
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LAYER2 - SHEET2 (only events with one cluster in L2/S2)




plot ALL the combinations of cluster X and V

— combinatorial and no selection

3D view - L1
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plot ALL the combinations of cluster X and V

—. combinatorial and no selection xvsz-L1TOP
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plot ALL the combinations of cluster X and V

— combinatorial and no selection
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RESIDUAL DISTRIBUTIONS of 2D clusters

Select events:

at least one clusteron L1 _Slandon L2 Sl andonlL2 S2
no selection on cluster size

no selection on total cluster charge

Trace the 3D line between points P1 and P2 on L2 top (S2)
and bottom (S1)

* Find the point of intersection I3 with L1 -
* Residuals in: phi and z

Find the shift in phiand z -~ ROUGH ALIGNMENT

residual § residual 2
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RESIDUAL DISTRIBUTIONS
on LAYER2, TOP after alignment

residual x residual y
1000 hresx § hresy
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